MIDTERM EXAM REVIEW
Section 1 - 30 points
· Time Value of Money
	TVM TEMPLATE
	

	INPUT
	

	PV=
	

	FV=
	

	RATE=
	

	TIME=
	

	PMT=
	

	
	

	OUTPUT
	

	Use Excel
	



Section 2– 20 points
1. Historical and Scenario Analysis where you need to calculate the average and standard Deviation
2. Combined Portfolio of Bonds and Stocks and the correlation
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PORTOLIO A

Year ROR

Deviation to 

return

(X-Avg(X))

SQR 

Deviation

1

12.9%

3.0% 0.089%

2

31.3%

21.4% 4.571%

3

5.0%

-4.9% 0.242%

4

-2.0%

-11.9% 1.421%

5

2.0%

-7.9% 0.627%

6

22.0%

12.1% 1.459%

7

12.0%

2.1% 0.043%

8

12.0%

2.1% 0.043%

9

-5.0%

-14.9% 2.226%

10

9.0%

-0.9% 0.008%

  Total 99.2% 10.730%

Observations= 10                  n

Average = 9.920%

Total ROR / n

Variance = 1.192%Sqr Dev/ (n - 1)

Standard Dev.= 10.92%

Standard Dev.= 10.92%

=STDEV(B5:B14) using Excel
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Scenario 

(s)

Probability

(p)

ROR %

(r

s

)

 p * r

s

%

Deviation 

for Exp. 

Ret.

(Dev.)

Square 

Deviation

(SD)

Dev^2

p * SD

Recession (Sr)

25.0% -12.00

-3.00 -23.70 561.69 140.42

Normal (Sn)

45.0% 14.00

6.30 2.30 5.29 2.38

Boom (Sb)

30.0% 28.00

8.40 16.30 265.69 79.71

100.0%

11.70% Variance= 222.51

SD = 14.92%

Stocks (s)
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PORTFOLIO ANALYSIS (Asset Allocation)

Asset Allocation

Weights (W%)

Stocks (Ws) =

60%

Bonds (Wb) =

40%

(Ws * r

s

) + (Wb * r

b

)

Scenario 

(s)

Probability

(p)

ROR %

(r

s

)

 p * r

s

%

Deviation 

for Exp. 

Ret.

(Dev.)

Square 

Deviation

(SD)

Dev^2

p * SD

Recession (Sr) 25.0% -1.6 -0.40 -10.32 106.50 26.63

Normal (Sn) 45.0% 10.4 4.68 1.68 2.82 1.27

Boom (Sb) 30.0% 14.8 4.44 6.08 36.97 11.09

100.0%

8.72% Variance= 38.99

SD = 6.24%


